TA Grading Notes

Question 1: Che Koog (32 points: 16 points each)

a. If students give some reason which make the demand for non controlled apartment increase. (16) If students just explain without appropriate reason or example, or their explanation is not clear, for example if they are confused with the demand for rent controlled apartment and non-rent controlled apartment. (9)

b. (16) The elasticity of demand for a normal good, will fall as income increases. (Higher income will shift out the demand.  This means that for any given percentage increase in the price of cigarettes, we expect a smaller percentage reduction in quantity demanded because the quantity change will be divided by a larger “base” implying a smaller percentage change.)  Hence there will be a greater percentage change in smoking for lower income smokers.(13) Other general explanation without using the elasticity concept, for example, as price of cigarette goes up, low income smoker are likely to decrease or quit more than high income smoker, because they are not enough money.(8) 
Question 2: Hansung (32 points)

The question is asking two things explicitly; which program you expect to cost more for taxpayers and the benefits farmers received in each case. The total of 32 points is allocated as following; Showing elastic demand case ( 7 pts, showing inelastic demand case ( 7 pts, mentioning farmers’ benefits ( 7 pts, general quality ( 11 pts. If you show graphical illustrations (as the hint suggests), extra points are given, up to 6 points for both graphs or up to 32 points in total if total point is over 32.
Question 3: Li (32 points: 8 points each) 

a. If you’ve succeeded in applying the law of demand into your explanation, i.e. there will be less families traveling by air with children due to higher cost, you will at least get 5 points as reward. You do not need to explicitly mention the law of demand, but you have to convey such an idea. After that, if you could compare the safety of traveling by other substitutes with traveling by air, and conclude the overall safety impact is ambiguous, you can get full 8 points if I don’t find out any other big mistake in your statement. If you tried to explain this issue in some other ways, at most you can get 4 points, if I think it’s relevant. 
b. For the second question, if you can contradict that statement by employing the concept of scarcity (again you do not need to explicitly mention that term but you have to convey that idea), you will get at least 5 points. The remaining 3 points are used to differentiate people on the same right track, as a reward for clear concept, elegant demonstration and forceful reasoning. If you tried to explain this issue in some other ways, at most you can get 4 points, if I think it’s relevant. 
c. It seems not many people know clearly about this concept: economic good. It’s something we desire to have more of, so its scarcity always exists. Most people are just talking about the function of money, or the nice properties that make money become money, you can get at most 4 points in this case. But if still some people can clarify why money is an economic good, they will get at least 6 points. Again, the remaining 2 points are used to differentiate people on the same right track, as a reward for elegant demonstration. 
d. The central point of this question is that the entry of the substitute will make the demand for insulin more elastic, so a price increase will lead to a smaller increase, if not negative, in the revenue than before. If you didn’t make use of the concept of elasticity, you couldn’t well explain this problem. For people on this right track, at least 5 points will be given. On the contrary, at most 5 points you can expect. Again, the left 3 points would reward people with better explanation. 
Question 4:  Mesut (32 points: 8 points each)

a. (8pts) Increase in price of commodities would result in decrease in quantity demanded. Also relative change in quantities of potato and meat depends on respective demand elasticity (availability of substitutes). (6pts) Quantity demanded will be smaller because of higher price. (2pts) Relative price of meat and potatoes has changed so more potatoes are now demanded. (2pts) Consumption remained the same since both price and income increased. 
b. (8pts) Mentioning that he can achieve the old bundle with the new prices. (2pts) Nominal income remained the same. (0pts) No informational content, then the repetition of the question. 
c. (8pts) He is better off since he has an option to choose the old bundle but he has some more. (2pts) better off since relative prices have changed. (2pts) He is indifferent.
d. (8pts) Since prices are different at different stores, they must have different MVs. So there is room for trade. (6pts) There is room for trade since prices are different at different stores. (3pts) There will be room for trade if they have different MVs.  

Question 5:  Keunsuk (32 points: 8 points each)

a. Answers clarifying the substitutions/complements relationship between floss and toothpaste got 8 points. Answers confused with the concept of demand shift and changes of quantity demanded got 3 or 4 points. If you misunderstood the “law of demand” in reverse way (an increase in quantity demanded causes a decrease in price), extra 2 points were taken off.
b. Well defined (opportunity cost of going to college) answers got the full points. If you explained the increase in the price of attending college by the shift of demand (caused by increase in income), 3 or 4 points were given.
c. If you clarified the elasticity of demand is the key to determine whether they benefit or lose, full points were given. If you explained it with the rise in price (without considering the effect on revenue- due to the demand elasticity), 5 points were given. If you explained it with the government subsidy to support the farmers, 3 points were given.
d. If you explicitly mention the ratio of total value and opportunity cost of waiting, you got full points. If you missed mentioning either the characteristic of inferior good (its total value) or the opportunity cost of waiting, 5 points were given. If you didn’t explain why the opportunity cost of waiting is higher for higher wage individuals, extra 1 or 2 points were taken off based on your logic.
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